ON THE NUMBER OF ZEROS OF BICOMPLEX ENTIRE FUNCTIONS

SHAHBAZ MIR AND ABDUL LIMAN

ABSTRACT. This paper portrays the results on bicomplex entire functions that are concerned with the positioning of zeros of Eneström-Kakeya type. Moreover, some examples are provided to validate our results.

1. Introduction

The classical Eneström-Kakeya theorem gives the lower and upper bounds on the zeros of a complex polynomial with positive coefficients. Several generalisations of this power tool of determining zeros have been obtained over the years (see [4], [5], [13]). Recently, Carney et. al [2] have extended it to quaternionic polynomials which lack the commutativity in general. Our prior motive is to establish the analogs results of this theorem for bicomplex entire functions which are of quite importance in analytic number theory and the theory of error correcting codes. In addition, bicomplex entire functions have applications in mathematical analysis, mathematical physics, and engineering. They provide a framework for studying problems involving multidimensional complex variables and can be used to model systems with bicomplex-valued variables.

2. Background

Bicomplex algebra was introduced by Segre [12], who became inspired by the work of Irish mathematician William Hamilton on quaternions and is actually a generalisation of complex numbers. The set of bicomplex numbers is denoted by \mathbb{BC} and are generally represented as $\mathbb{BC} = \{Z = z_1 + jz_2 \mid z_1, z_2 \in \mathbb{C}\}$, where \mathbb{C} is the set of complex numbers with the imaginary unit i, and where i and $j \neq i$ are commuting imaginary units. Therefore they form a commutative integral domain but not a field, as there exists infinite number of zero divisiors of the form $Z = \lambda(1 \pm ij)$, where $\lambda \in \mathbb{C} \setminus \{0\}$. We start with a property of bicomplex numbers which has no analogs for complex numbers and called as idempotent representation.

Received January 29, 2023. Revised June 21, 2023. Accepted June 21, 2023.

²⁰¹⁰ Mathematics Subject Classification: 30D10, 30C10, 30C15, 30D20.

Key words and phrases: Bicomplex number, entire function, discus, Schwartz's lemma, Eneström-Kakeya Theorem.

[©] The Kangwon-Kyungki Mathematical Society, 2023.

This is an Open Access article distributed under the terms of the Creative commons Attribution Non-Commercial License (http://creativecommons.org/licenses/by-nc/3.0/) which permits unrestricted non-commercial use, distribution and reproduction in any medium, provided the original work is properly cited.

2.1. Idempotent representation of bicomplex numbers. Consider the bicomplex numbers

$$e = \frac{1+ij}{2}$$
 and $e^{\dagger} = \frac{1-ij}{2}$

then

 $e.e^{\dagger} = 0$ (i.e., each of them is a zero divisior).

Also

$$e^2 = e$$
 and $(e^{\dagger})^2 = e^{\dagger}$ (i.e., they are idempotents).

Now for any $Z = z_1 + z_2 \in \mathbb{BC}$ we have

$$Z = z_1 + jz_2 = \frac{z_1 - iz_2 + z_1 + iz_2}{2} + j\frac{z_2 + iz_1 + z_2 - iz_1}{2}$$

$$= \frac{z_1 - iz_2}{2} + \frac{z_1 + iz_2}{2} + ij\frac{z_1 - iz_2}{2} - ij\frac{z_1 + iz_2}{2}$$

$$= (z_1 - iz_2)\frac{1 + ij}{2} + (z_1 + iz_2)\frac{1 - ij}{2},$$

that is,

$$(1) Z = \alpha_1 e + \alpha_2 e^{\dagger},$$

where $\alpha_1 = z_1 - iz_2$ and $\alpha_2 = z_1 + iz_2$ are complex numbers. Formula (1) is called the idempotent representation of the bicomplex number Z and is a unique one. From the idempotent representation of any bicomplex number $Z = z_1 + jz_2$ as $Z = (z_1 - iz_2) e + (z_1 + iz_2) e^{\dagger}$, we get the idea of defining two spaces $\mathbb{A} = \{z_1 - iz_2 : z_1, z_2 \in \mathbb{C}\}$ and $\overline{\mathbb{A}} = \{z_1 + iz_2 : z_1, z_2 \in \mathbb{C}\}$, known as auxiliary complex spaces. Though \mathbb{A} and $\overline{\mathbb{A}}$ contain same elements as in \mathbb{C} but this convenient notation are used for special representation of elements in the sense that each $Z = z_1 + jz_2 = (z_1 - iz_2) e + (z_1 + iz_2 e^{\dagger}) \in \mathbb{BC}$ associates the points $(z_1 - iz_2) \in \mathbb{A}$ and $(z_1 + iz_2) \in \overline{\mathbb{A}}$. Also to each point $(z_1 - iz_2, z_1 + iz_2) \in \mathbb{A} \times \overline{\mathbb{A}}$, there is a unique point in \mathbb{BC} .

- **2.2. Cartesian Product.** The cartesian set in \mathbb{BC} determined by $X_1 \subset \mathbb{A}$ and $X_2 \subset \overline{\mathbb{A}}$ is defined as $X_1 \times_e X_2 := \{z_1 + jz_2 \in \mathbb{BC} : z_1 + jz_2 = \omega_1 e + \omega_2 e^{\dagger}, (\omega_1, \omega_2) \in X_1 \times X_2\}.$
- **2.3. The Euclidean norm of a bicomplex number.** The Euclidean norm of a bicomplex number $Z = z_1 + jz_2 = \alpha_1 e + \alpha_2 e^{\dagger} \in \mathbb{BC}$ is a function $\| \| : \mathbb{BC} \to \mathbb{R}^+$ denoted by $\| Z \|$ and given by:

$$||Z|| = \sqrt{|z_1|^2 + |z_2|^2} = \frac{1}{\sqrt{2}} \sqrt{|\alpha_1|^2 + |\alpha_2|^2}.$$

It is easy to verify that for any two bicomplex numbers Z and W,

$$||Z.W|| \le \sqrt{2} ||Z||.||W||.$$

2.4. Open discus in \mathbb{BC} . An open discus $D(a; r_1, r_2)$ with centre $a = a_1 e + a_2 e^{\dagger}$ and associated radii $r_1 > 0, r_2 > 0$ is defined as

$$D(a; r_1, r_2) = B(a_1, r_1) \times_e B(a_2, r_2)$$

= $\{\omega_1 e + \omega_2 e^{\dagger} \in \mathbb{BC} : |\omega_1 - a_1| < r_1, |\omega_2 - a_2| < r_2\},$

where B(z,r) represent open ball with centre z and radius r.

2.5. Closed discus in \mathbb{BC} . A closed discus $\bar{D}(a; r_1, r_2)$ with centre $a = a_1 e + a_2 e^{\dagger}$ and associated radii $r_1 > 0, r_2 > 0$ is defined as

$$D(a; r_1, r_2) = \bar{B}(a_1, r_1) \times_e \bar{B}(a_2, r_2)$$

= $\{\omega_1 e + \omega_2 e^{\dagger} \in \mathbb{BC} : |\omega_1 - a_1| \le r_1, |\omega_2 - a_2| \le r_2\},$

where $\bar{B}(z,r)$ represent closed ball with centre z and radius r.

Geometrically, $\bar{D}\left(a;r_{1},r_{2}\right)$ represents a double cylinder (duocylinder) in 4 dimensional Euclidean space.

- **2.6. Entire function in** \mathbb{BC} . A bicomplex entire function f(Z) can be represented by an everywhere convergent power series as $f(Z) = \sum_{s=0}^{\infty} A_s Z^s$, where A_s are bicomplex numbers.
- **2.7. Bicomplex Polynomial.** Let $p(Z) = \sum_{s=0}^{n} A_s Z^s$ be a bicomplex polynomial of degree n, then p has the idempotent representation as

$$p(Z) = \sum_{s=0}^{n} (\alpha_s \zeta_1^s) e + \sum_{s=0}^{n} (\beta_s \zeta_2^s) e^{\dagger} = p_1(\zeta_1) e + p_2(\zeta_2) e^{\dagger},$$

where p_1 and p_2 are considered as complex polynomials in one variable. To have more detailed information on bicomplex numbers, refer to the book "Bicomplex Holomorphic Functions: The Algebra, Geometry and Analysis of Bicomplex Numbers" by M. Elena Luna-Elizarrarás et. al [7].

The study of location of zeros of bicomplex entie functions and in particular bicomplex polynomials is not as easy as complex polynomials. There exists bicomplex polynomials which have no zero in \mathbb{BC} or having infinite number of zeros. For that reason, let us first state the analogue of the fundamental theorem of algebra for bicomplex polynomials [8].

THEOREM 2.1. Consider a bicomplex polynomial $p(Z) = \sum_{s=0}^{n} A_s Z^s$. If all the coefficients A_s with the exception of the free term $A_0 = \gamma_0 e + \delta_0 e^{\dagger}$ are complex multiples of e (respectively of e^{\dagger}), but A_0 has $\delta_0 \neq 0$ (respectively $\gamma_0 \neq 0$), then p(Z) has no roots. In all other cases, p(Z) has at least one root.

EXAMPLE 2.1: Consider the bicomplex polynomial

$$(1+ij)Z^2 + 2 = 0.$$

This equation can be to written in idempotent form as:

$$2eZ^2 + 2(e + e^{\dagger}) = 0.$$

This gives,

$$(Z^2 + 1)e = 0,$$
$$e^{\dagger} = 0,$$

which has no roots.

Note: If p(Z) is a monic bicomplex polynomial of degree n, then p(Z) has exactly n^2 zeros.

So, finding the number of zeros of bicomplex entire functions in particular of polynomials is not an easy task and with that motivation, we shall give some results that predict the location of zeros of these functions of some special type. For that, we require the following lemmas:

3. Lemmas

The first two lemmas are by G. B. Price [11].

LEMMA 1. Let $A = A_1e + A_2e^{\dagger} = \{\zeta_1e + \zeta_2e^{\dagger} : \zeta_1 \in A_1, \zeta_2 \in A_2\}$ be a domain in \mathbb{BC} . A bicomplex function $F = F_1e + F_2e^{\dagger} : A \longrightarrow \mathbb{BC}$ is said to be holomorphic if and only if both the component functions F_1 and F_2 are complex holomorphic in A_1 and A_2 respectively.

LEMMA 2. Let F be a bicomplex holomorphic function defined in a domain $A = A_1e + A_2e^{\dagger} = \{\zeta_1e + \zeta_2e^{\dagger} : \zeta_1 \in A_1, \zeta_2 \in A_2\}$ such that $F(Z) = F_1(\zeta_1)e + F_2(\zeta_2)e^{\dagger}$, for all $z = \zeta_1e + \zeta_2e^{\dagger} \in A$. Then, F(Z) has a zero in A if and only if $F_1(\zeta_1)$ and $F_2(\zeta_2)$ both have zero at ζ_1 in A_1 and at ζ_2 in A_2 respectively.

The next lemma is credited to Hermann Amandus Schwarz and popularly known as Schwarz lemma.

LEMMA 3. If a complex function h(z) is holomorphic in $|z| \leq R$ such that h(0) = 0 and $|h(z)| \leq M$ for |z| = R, then

$$|h(z)| \le \frac{M|z|}{R}.$$

Finally, we require the following lemma which is due to Govil and Rahman [4].

LEMMA 4. If for some real β

$$|\arg a_i - \beta| \le \alpha \le \pi/2, \quad a_i \ne 0$$

and for some positive real numbers t_1 and t_2 , $t_1 |a_j| \ge t_2 |a_{j-1}|$, then

$$|t_1 a_j - t_2 a_{j-1}| \le (t_1 |a_j| - t_2 |a_{j-1}|) \cos \alpha + (t_1 |a_j| + t_2 |a_{j-1}|) \sin \alpha.$$

4. Main Results

In this section, we present the following two main results:

THEOREM 4.1. Let $f(Z) = \sum_{s=0}^{\infty} A_s Z^s$ be a bicomplex entire function with real coefficients and for some $k_i \geq 1$,

$$k_0 A_0 \ge k_1 A_1 \ge \dots \ge k_{r-1} A_{r-1} \ge A_r \ge \dots$$
.

Then f(Z) does not vanish in the open discus $D(0; t_0, t_0)$, where

$$t_0 = \frac{|A_0|}{k_0 A_0 + 2 \sum_{m=0}^{r-1} |A_m (k_m - 1)|}.$$

Proof. By using the fact $e + e^{\dagger} = 1$ and by the idempotent representation of a bicomplex number Z, f(Z) can be expressed as

$$f(Z) = \sum_{s=0}^{\infty} (A_s e + A_s e^{\dagger}) (\zeta_1 e + \zeta_2 e^{\dagger})^s$$

$$= \sum_{s=0}^{\infty} (A_s e + A_s e^{\dagger}) (\zeta_1^s e + \zeta_2^s e^{\dagger})$$

$$= \sum_{s=0}^{\infty} A_s \zeta_1^s e + \sum_{s=0}^{\infty} A_s \zeta_2^s e^{\dagger}$$

$$= h_1(\zeta_1) e + h_2(\zeta_2) e^{\dagger}.$$

As f(Z) being entire is analytic in the closed discus $\bar{D}(0;1,1)\subset\mathbb{BC}$, therefore by Lemma 1, $h_1(\zeta_1)$ and $h_2(\zeta_2)$ both are holomorphic respectively in $X_1=\{\zeta_1\in A_1: |\zeta_1|\leq 1\}\subset\mathbb{C}$ and $X_2=\{\zeta_2\in A_2: |\zeta_2|\leq 1\}\subset\mathbb{C}$ where $A_1=\{z_1-iz_2: z_1, z_2\in\mathbb{C}\}$ and $A_2=\{z_1+iz_2: z_1, z_2\in\mathbb{C}\}$.

Now consider the function

$$F(\zeta_{1}) = (\zeta_{1} - 1) h_{1}(\zeta_{1})$$

$$= -A_{0} + (A_{0} - A_{1}) \zeta_{1} + (A_{1} - A_{2}) \zeta_{1}^{2} + \dots + (A_{r-2} - A_{r-1}) \zeta_{1}^{r-1} + (A_{r-1} - A_{r}) \zeta_{1}^{r} + \dots$$

$$= -A_{0} + (k_{0}A_{0} - k_{1}A_{1} + A_{0} (1 - k_{0}) + A_{1} (k_{1} - 1)) \zeta_{1} + (k_{1}A_{1} - k_{2}A_{2} + A_{1} (1 - k_{1}) + A_{2} (k_{2} - 1)) \zeta_{1}^{2} + \dots + (k_{r-2}A_{r-2} - k_{r-1}A_{r-1} + A_{r-2} (1 - k_{r-2}) + A_{r-1} (k_{r-1} - 1)) \zeta_{1}^{r-1} + (k_{r-1}A_{r-1} - A_{r} + A_{r-1} (1 - k_{r-1})) \zeta_{1}^{r} + \dots$$

$$= -A_{0} + G(\zeta_{1}) \quad \text{where} \quad G(\zeta_{1}) = (k_{0}A_{0} - k_{1}A_{1} + A_{0}(1 - k_{0}) + A_{1}(k_{1} - 1)) \zeta_{1} + (k_{1}A_{1} - k_{2}A_{2} + A_{1}(1 - k_{1}) + A_{2}(k_{2} - 1)) \zeta_{1}^{2} + \dots + (k_{r-2}A_{r-2} k_{r-1}A_{r-1} + A_{r-2}(1 - k_{r-2}) + A_{r-1}(k_{r-1} - 1)) \zeta_{1}^{r-1} + (k_{r-1}A_{r-1} - A_{r} + A_{r-1}(1 - k_{r-1})) \zeta_{1}^{r} + (A_{r} - A_{r+1}) \zeta_{1}^{r+1} + \dots$$

For $|\zeta_1| = 1$, we have

$$|G(\zeta_{1})| = \left| (k_{0}A_{0} - k_{1}A_{1} + A_{0}(1 - k_{0}) + A_{1}(k_{1} - 1))\zeta_{1} + (k_{1}A_{1} - k_{2}A_{2} + A_{1}(1 - k_{1}) + A_{2}(k_{2} - 1))\zeta_{1}^{2} + \dots + (k_{r-2}A_{r-2} - k_{r-1}A_{r-1} + A_{r-2}(1 - k_{r-2}) + A_{r-1}(k_{r-1} - 1))\zeta_{1}^{r-1} + (k_{r-1}A_{r-1} - A_{r} + A_{r-1}(1 - k_{r-1}))\zeta_{1}^{r} + (A_{r} - A_{r+1})\zeta_{1}^{r+1} + \dots \right|$$

$$\leq k_{0}A_{0} + 2\sum_{m=0}^{r-1} |A_{m}(k_{m} - 1)| = S(\text{say}).$$

Since $G(\zeta_1)$ is holomorphic in $|\zeta_1| \leq 1$, G(0) = 0 and $|G(\zeta_1)| \leq S$ for $|\zeta_1| = 1$, therefore in view of Lemma 3, we have

$$|G(\zeta_1)| \le \frac{S|\zeta_1|}{1}$$
, for $|\zeta_1| \le 1$.

Now for $|\zeta_1| < 1$, we get

$$|F(\zeta_1)| \ge |-A_0 + G(\zeta_1)|$$

 $\ge |A_0| - |G(\zeta_1)|$
 $\ge |A_0| - S|\zeta_1| > 0 \text{ if } |\zeta_1| < \frac{|A_0|}{S} = t_0 \text{ (say)}.$

This implies that $|h_1(\zeta_1)| > 0$ for $|\zeta_1| < t_0$.

Similarly, it can be shown that $|h_2(\zeta_2)| > 0$ for $|\zeta_2| < t_0$.

This shows that the functions $h_1(\zeta_1)$ and $h_2(\zeta_2)$ do not vanish respectively in $A_1' = \{\zeta_1 \in X_1 : |\zeta_1| < t_0\}$ and $A_2' = \{\zeta_2 \in X_2 : |\zeta_2| < t_0\}$. Hence in view of Lemma 2, $f(Z) = h_1(\zeta_1) e + h_2(\zeta_2) e^{\dagger}$ do not vanish in $A_1' e + A_2' e^{\dagger} = D(0; t_0, t_0)$. That proves the theorem.

The following example ensures the validity of Theorem 4.1.

EXAMPLE 2.2 Let $f(Z) = e^Z - \frac{5}{6}$. Then $f(Z) = \frac{1}{6} + Z + \frac{Z^2}{2!} + \frac{Z^3}{3!} + \dots$ Let $k_0 = 6$ and $k_i = 1$ for all $i = 1, 2, 3, \dots$ Therefore by Theorem 4.1, f(Z) does not vanish in $D(0, t_0, t_0)$, where $t_0 = \frac{1}{1+\frac{5}{2}} = \frac{1}{16}$.

Counter Example: Consider $f(Z) = \frac{5}{6} - e^Z$. Then, $f(Z) = \frac{-1}{6} - Z - \frac{Z^2}{2!} - \frac{Z^3}{3!} - \dots$. Choose $k_0 = 12$ and $k_i = 1$ for all $i = 1, 2, 3, \dots$ Clearly, $k_0 A_0 < k_1 A_1 < k_2 A_2 < \dots$. Therefore, all the zeros of f(Z) lie in the discus $D(0; t_0, t_0)$, where $t_0 = \frac{1/6}{-2+11/3} = \frac{1}{10}$.

Theorem 4.2. Let $f(Z) = \sum_{s=0}^{\infty} A_s Z^s$ be a bicomplex entire function with real coefficients such that

$$|A_0| \ge |A_1| \ge \dots \ge |A_{r-1}| \ge A_r \ge A_{r+1} \dots$$

Then f(Z) does not vanish in the open discus $D(0; t_0, t_0)$ where

$$t_{0} = \frac{|A_{0}|}{|A_{0}|\cos\alpha + (|A_{r-1}| - |A_{0}|)\sin\alpha + 2\sum_{s=0}^{r-2} |A_{s}|\sin\alpha + M_{p}},$$

and

$$M_p = \sum_{p=r-1}^{\infty} |A_p - A_{p+1}|.$$

Proof.

$$f(Z) = \sum_{s=0}^{\infty} (A_s e + A_s e^{\dagger}) (\zeta_1 e + \zeta_2 e^{\dagger})^s$$

$$= \sum_{s=0}^{\infty} (A_s e + A_s e^{\dagger}) (\zeta_1^s e + \zeta_2^s e^{\dagger})$$

$$= \sum_{s=0}^{\infty} A_s \zeta_1^s e + \sum_{s=0}^{\infty} A_s \zeta_2^s e^{\dagger}$$

$$= h_1 (\zeta_1) e + h_2 (\zeta_2) e^{\dagger}.$$

Since f(Z) is analytic in any closed discus; in particular $\bar{D}(0;1,1) \subset \mathbb{BC}$, which implies the respective functions $h_1(\zeta_1)$ and $h_2(\zeta_2)$ are analytic in the complex regions $X_1 = \{\zeta_1 \in A_1 : |\zeta_1| \leq 1\} \subset \mathbb{C}$ and $X_2 = \{\zeta_2 \in A_2 : |\zeta_2| \leq 1\} \subset \mathbb{C}$ where $A_1 = \{z_1 - iz_2 : z_1, z_2 \in \mathbb{C}\}$ and $A_2 = \{z_1 + iz_2 : z_1, z_2 \in \mathbb{C}\}$.

Now consider the function

$$F(\zeta_{1}) = (\zeta_{1} - 1) h_{1}(\zeta_{1})$$

$$= -A_{0} + (A_{0} - A_{1}) \zeta_{1} + (A_{1} - A_{2}) \zeta_{1}^{2} + \dots + (A_{r-2} - A_{r-1}) \zeta_{1}^{r-1} + (A_{r-1} - A_{r}) \zeta_{1}^{r} + \dots$$

$$= -A_{0} + G(\zeta_{1}) \text{ where } G(\zeta_{1}) = (A_{0} - A_{1}) \zeta_{1} + (A_{1} - A_{2}) \zeta_{1}^{2} + \dots + (A_{r-2} - A_{r-1}) \zeta_{1}^{r-1} + (A_{r-1} - A_{r}) \zeta_{1}^{r} + (A_{r} - A_{r+1}) \zeta_{1}^{r+1} + \dots$$

For $|\zeta_1| = 1$, we have

$$|G(\zeta_{1})| = |(A_{0} - A_{1})\zeta_{1} + (A_{1} - A_{2})\zeta_{1}^{2} + \dots + (A_{r-2} - A_{r-1})\zeta_{1}^{r-1} + (A_{r-1} - A_{r})\zeta_{1}^{r} + (A_{r} - A_{r+1})\zeta_{1}^{r+1} + \dots |$$

$$\leq |A_{0} - A_{1}| + |A_{1} - A_{2}| + \dots + |A_{r-2} - A_{r-1}| + |A_{r-1} - A_{r}| + |A_{r} - A_{r+1}| + \dots .$$

Applying Lemma 4, it immediately yields

$$|G(\zeta_{1})| \leq |A_{0}| \cos \alpha + (|A_{0}| + |A_{r-1}|) \sin \alpha - |A_{r-1}| \cos \alpha + 2 \sum_{s=1}^{r-2} |A_{s}| \sin \alpha + |A_{r-1} - A_{r}| + |A_{r} - A_{r+1}| + \dots$$

$$\leq |A_{0}| \cos \alpha + (|A_{r-1}| - |A_{0}|) \sin \alpha + 2 \sum_{s=0}^{r-2} |A_{s}| \sin \alpha + M_{p} = M \text{ (say)}$$
where $M_{p} = \sum_{p=r-1}^{\infty} |A_{p} - A_{p+1}|$.

Since $G(\zeta_1)$ is holomorphic in $|\zeta_1| \leq 1$, G(0) = 0 and $|G(\zeta_1)| \leq M$ for $|\zeta_1| = 1$, therefore by Lemma 3, we have

$$|G(\zeta_1)| \le \frac{M|\zeta_1|}{1}$$
, for $|\zeta_1| \le 1$.

Now for $|\zeta_1| < 1$, we get

$$|F(\zeta_1)| \ge |-A_0 + G(\zeta_1)|$$

 $\ge |A_0| - |G(\zeta_1)|$
 $\ge |A_0| - M|\zeta_1| > 0$ if $|\zeta_1| < \frac{|A_0|}{M} = t_0$ (say).

This shows that $|h_1(\zeta_1)| > 0$ for $|\zeta_1| < t_0$.

Likewise, we can shown that $|h_2(\zeta_2)| > 0$ for $|\zeta_2| < t_0$.

This implies that the functions $h_1(\zeta_1)$ and $h_2(\zeta_2)$ do not vanish respectively in $A'_1 = \{\zeta_1 \in X_1 : |\zeta_1| < t_0\}$ and $A'_2 = \{\zeta_2 \in X_2 : |\zeta_2| < t_0\}.$

Hence in view of Lemma 2, $f(Z) = h_1(\zeta_1) e + h_2(\zeta_2) e^{\dagger}$ do not vanish in $A_1'e + A_2'e^{\dagger} = D(0; t_0, t_0)$. which is our desired result.

Example 2.3 Let $f(Z) = e^Z + Z^2 - 3Z - 4$. Then $f(Z) = -3 - 2Z + 3\frac{Z^2}{2!} + \frac{Z^3}{3!} + \dots$. Clearly $|A_0| \ge |A_1| \ge |A_2| \ge |A_3|, \dots$. Hence by Theorem 4.2, f(Z) does not vanish in $D(0, t_0, t_0)$ where $t_0 = \frac{3}{3\cos\alpha - \sin\alpha + \sum\limits_{p=1}^{\infty} |A_p - A_{p+1}|}$.

COUNTER EXAMPLE: Consider $f(Z) = 4Z^2 + 3Z + 1$. Then, clearly $|A_0| < |A_1| < |A_2|$. Therefore, all the zeros of f(Z) lie within or on $D(0; t_0, t_0)$, where $t_0 = \frac{1}{\cos \alpha + 11 \sin \alpha + 4}$.

5. Conclusion:

This paper concludes with a summary of the key findings and contributions of the research, highlighting the importance of bicomplex polynomials, aims to contribute to the existing body of knowledge, stimulate further research, and foster new applications of bicomplex polynomials in various scientific and engineering domains.

References

- [1] M. Bidkham and S. Ahmadi, Generalization of the Gauss-Lucas theorem for bicomplex polynomials, Turk. J. Math. 41 (2017), 1618–1627.
- [2] N. Carney, R. Gardner, R. Keaton, and A. Powers, The Eneström-Kakeya theorem of a quaternionic variable, J. Appl. Theory 250 (2020), 105–325.
- [3] J. B. Conway, Function of one complex variable, 2nd edition Springer-Verlag, 1978.
- [4] N. K. Govil and Q. I. Rahman, On the Enestrom-Kakeya theorem II, Tohoku Math. J. 20 (1968), 126–136.
- [5] A. Joyal, G. Labelle, and Q. I. Rahman, On the location of zeros of polynomials, Can. Math. Bull. 10 (1967), 53–63.
- [6] J. Kumar and R. K. Srivastava, On a class of entire bicomplex sequences, South East Asian J. Math. Sci. 5 (3) (2007), 47–67.

- [7] M. E. Luna-Elizarrarás, M. Shapiro, D. C. Struppa, and A. Vajiac, *Bi-complex Holomorphic Functions*, The Algebra, Geometry and Analysis of Bi-complex Numbers. Birkhäuser (2015).
- [8] M. E. Luna-Elizarrarás, M. Shapiro, D. C. Struppa, and A. Vajiac, *Bi-complex numbers and their elementary functions*, Cubo **14** (2) (2012), 61–80.
- [9] M. Marden, Geometry of Polynomials, Math. Surveys, No. 3, Amer. Math. Soc. (1966).
- [10] A. A Pogorui and R. M. Rodriguez-dagnino, On the set of zeros of bi-complex polynomials, Complex Variables and Elliptic Equations 51:7 (2006), 725–730.
- [11] G. B. Price, An Introduction to Multicomplex Spaces and Functions, Monographs and Textbooks in Pure and Applied Mathematics, 140, Marcel Dekker, Inc., New York, 1991.
- [12] C. Segre, Le rappresentation reali delle forme complesse e gli enti iperalgebrici, Math. Ann. 40 (1892), 413–467.
- [13] W. M. Shah and A. Liman, On Enestrom-Kakeya theorem and related analytic functions, Proc. Indian Acad. Sci. 3 (2007), 359–370.

Shahbaz Mir

Department of Mathematics, National Institute of Technology, Srinagar, 190006, (India).

 $E ext{-}mail: shahbaz_04phd19@nitsri.net}$

Abdul Liman

Department of Mathematics, National Institute of Technology, Srinagar, 190006, (India).

E-mail: abliman@rediffmail.com